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Note :
()  Attempt five

mmﬂ‘ﬂ@mﬂwm@,@ﬁM'#mWi

questions in all, selecting one question from each Unit.

(2)  Write your roll number on question paper before start writing answer of

questions.
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UNIT-1 @&T3-1)

1. %’ Find order and degree of the equation :

d2 d o 3/2
K<Y - 1+[—Y] ] : -
dx dx 2

3/2

&y =[1+(d_?)2]
dx” dx
w1 #ife aw 9@ @ Fifsn
{b) Solve -
B4 ‘_’BITW :
% =8in(x +.yJ +cos(x + y). -
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{c) Salve :

B ifsg
dy (x+y- 1)? 3
dx  4(x-2)% o/4
2. (a) Solve
TF Hiew
2xydy - (x% +y% +1)dx = 0. 2/2/2
‘,\ {b) Solve ;
A HINE
(x + y)2dx —(y® — 2xy —x®)dy = 0. 3/4/4
(?& Solve :
T Wi
@x%y* + 2xy)dx + (2x%y® - xH)dy = 0. 3/5/4
UNIT-II G&T3-1)
3. (a) Solve :
Td Sifaq
; d
2 2 Y
x“(y-px)=yp°, p=—. =
y-p yp.,.p dx 4/5%4/5
(b)  Find general and singular solutions of the equation :
2 2 dy
9p*(2-y)* =4@-y), p=—. 4/5/5
dx
. d
4. ~a) Solve
d*y 2
gut oy Tseeax 4/5v615
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NS
5. (a)
(b
6. fa)
{b)
7. fa)
(h)

Solve :

T AT
4 3 2
d 5:."2{1 ].':_Bd §=x2+3e2”+4sinx.
dx’ dx’ dx
UNIT-ITL (B&TE-III)
Solve
TG HiteT
2
xzﬁ_x%-k?y:xlogx.
Sclve
T m'lfﬁq :
[2):2+.?J,:’z)d—2}r+(Eix+3)d—y+2y’=(x+l)¢3x
dx? dx .
Solve
dx 2 y 1
— 3t (x—y)=1 L 4= =
dt+1.(x ) b +t(X+5y) t
Solve
B‘a f\ﬁ
dx _dy _de
xg_}r _ZE 2xy 2XZI
UNIT-IV G&FTE-IV)
Solve :
fx+-2}d—gi~(2x+5)d—y+2y=L'x+1)e".
dx? dx
Salve -

Tdxl T dx

1 1y
\c—(-(x e --y} - Zxd—y I 2y+x2y =0,
dx

K0496/2175/2125-11 3

4/5/5

4/5%/5

4/5%/5

4/5%4/5

4/5/5

4/5/5
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8. (a)
(b)
9. (a)
(b)
10, (a)

(b)

Solve :

TA wifan

2
3x2—:-—-’2-'~+(2+6x—6x2)%—4y - 0.
X

Apply method of variation of parameters to solve the equation :

2
ng-%~2xll+x)d—y+2(1+x}y=x3.
x dx

2
2d%y dy 3
x —=-2x(1+x)—=—+2(1+x)y=x
dx® dx y

# T FA & fag yea faww fify &1 v sifaw
UNIT-V (FFTE-V)
Solve :
A FHIT
pcos(x+y) +gsin(x +vy) =z

Solve the following equation by Charpit’s method :

frar wimm # ad fafy @ T A

p =(qy +2)°.
Solve
T Hifeg
2%z 2%z 4x y
-2 _4_2‘__2'_""‘
X eyt y* x®
Solve
TA HRIST
~2 @ -
¢z 0% iz ,
—F Tt -1~ cos(x + 2y) + Y.
ox .n'xr'?y (7)"

LR EE]
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